logAY=log (diferencia de valor triestimulo
0..

umbral

@) Y=valor triestimulo

0 ] IogY
1,0 15 2.0

2-003130-LO0  2-003130-FO0 MS091-10, B4_09




logAY=log (diferencia de valor triestimulo
0..

umbral

@) Y=valor triestimulo

0 ] IogY
1,0 15 2.0

2-013130-LO0  2-013130-FO0 MS091-11, B4_09




logAY=log (diferencia de valor triestimulo
0..

umbral

@) Y=valor triestimulo

0 ] IogY
1,0 15 2.0

2-103130-LO0  2-103130-FO0 MS091-12, B4_09




logAY=log (diferencia de valor triestimulo
0..

umbral

@) Y=valor triestimulo

0 ] IogY
1,0 15 2.0

2-113130-LO0  2-113130-FO0 MS091-13, B4_09




